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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1586 6.9 2.7 15 46.1 99.9
2 1584 5.8 1.7 10 57.9 99.8
3 1575 4.6 2.3 10 45.9 99.2
4 1582 16 4.6 25 64 99.6
5 1580 3.3 1.6 10 33.2 99.5
6 1583 5.3 2.5 15 35 99.7
7 1583 11.3 3.5 20 56.6 99.7
8 1575 5.5 2.4 15 36.8 99.2
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.

Line
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Section B

Marked out of 60        60 minutes

5.	 This question is about Commercial Manufacturing Processes. It is worth a total of 10 marks.

	 (a)	 Put a tick (√) in the table below to indicate the correct method of production that matches 
each of the statements.	 [2]

		  One example has already been completed.

© WJEC CBAC Ltd.

Statement One-off 
production

Batch 
production

Mass 
production

Large numbers of identical 
products made continuously 
over a long period of time.

√

A single product made for 
the specific needs of a 
customer.
A specific number of the 
same food product made 
as a small scale production 
system.

	 (b)	 Name the industrial equipment shown below. 	 [2]                    

	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 (iii)	 Give a detailed reason why a manufacturer would use the equipment shown in
		  (i) when manufacturing food products. 	 [2]     
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	 (c)	 Food manufacturers have to ‘scale up’ to enable them to produce food products in volume.

		  Explain what a manufacturer has to do to a recipe to ‘scale up’.	 [2]     

	

	

	 (d)	 When a food product goes into large scale production a manufacturing specification will 
have been written. 

		  Explain why a manufacturing specification is needed.	 [2]

	

	

© WJEC CBAC Ltd.







Sticky Note
The industrial equipment pieces have not been correctly named. The correct responses would be (i) deck oven  (ii) blast chiller.



Sticky Note
A more developed response is required for full marks to be awarded.  The candidate could extend their answer by including a manufacturing specification this would provide precise details that enables an exact replica of the final design to be produced. 

Sticky Note
The candidate has put forward a basic response identifying the amount of ingredients need to be multiplied.  The question states explain therefore a more detailed response is required.  To achieve full marks the candidate needed to include the amount of ingredients should be multiplied proportionally to produce larger amounts.









Sticky Note
The candidate has put forward a very basic statement which should not have been awarded any marks.  A simple response could include letting the manufacturer know important details about the product, a more developed response could include precise details needed by the manufacturer to be able to produce an exact replica of the final design.

Sticky Note
The question states explain therefore a more detailed response is required.  To achieve full marks the candidate needed to include the amount of ingredients should be multiplied proportionally to produce larger amounts.








Sticky Note
The candidate has not stated the type of oven therefore marks could not be awarded.  The correct response for (i) is  Deck oven and (ii) (Gyro) blast chiller.




Sticky Note
A manufacturing specification will  provide the manufacturer with precise details about the final product.  This enables the manufacturing of an exact replica of the final design.  The  candidate is referring to a flow chart rather than a manufacturing specification in the first part of the answer.

Sticky Note
This response is very limited and key points have been omitted. The candidate needed to state that the ingredients needed to be multiplied up proportionally to enable the manufacturer to produce larger amounts. 
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6.	 This question is about Materials and Components. It is worth a total of 15 marks.

	  (a)	 The chart below contains pictures of three food products which have been made using 
different types of flour. Complete the chart by naming the correct type of flour used to 
make each product.	 [3]

© WJEC CBAC Ltd.

Food Product Type of flour used

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Victoria Sandwich Cake

Éclairs

Shortcrust pastry mince pie
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	 (b)	 The picture below shows a typical cheese sandwich which may be sold in supermarkets. 

The nutrition information is shown alongside.

© WJEC CBAC Ltd.

Typical Values Per Pack

Energy 272 kcal

Protein 15.2g

Carbohydrates 36.5g

Fat 22.2g

Fibre 1.8g

	 (i)	 The sandwich contains 15.2g of protein. State the main protein source.	 [1]

	

	 (ii)	 The fibre content of the sandwich is low at 1.8g. Identify two changes you could 
make to the sandwich to increase the fibre content.	 [2]  

		  Change 1: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

		  Change 2: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 (c)	 When apples are peeled they can go brown. Give one cause of the browning effect and 
one method of preventing it. 

		  Cause of browning: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [2]

	

	

		  Method of prevention: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]
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	 (d)	 The shelf life of milk is extended by a method that involves the application of heat.

		  Name and explain a method used to extend the shelf life of milk.

		  Name: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]

		  Explanation: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	

		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [2]

	 (e)	 The potato bake shown in the picture below contains a white sauce.  

© WJEC CBAC Ltd.

		  During the making of the white sauce it is heated which causes the starch to gelatinise. 

		  Describe the main stages of gelatinisation. 	 [3]          

	

	

	

	











Sticky Note
The candidate put forward a basic response identifying the air as a cause of the browning effect.  To gain full marks the candidate needed to clarify that the enzymes in the apple react with the oxygen in the air causing the surface of the fruit to go brown.

Sticky Note
To gain marks the candidate needed to specify which type of vegetables could be added to the sandwich to increase the fibre content as not all vegetables would be suitable. Other suitable answers could include adding lettuce and tomatoes to the sandwich or changing the bread to wholemeal.



Sticky Note
The candidate has started to suggest some suitable information but has not stated the starch granules absorb liquid. A developed response should include the amount the granules absorb, the temperatures this occurs at, the releasing of the starch and when gelatinisation is complete.

Sticky Note
This is a very limited response omitting many key points.  The candidate did not recognise that in pasteurisation the milk is heated to 72C.  To achieve full marks they needed to include the timings for the heating, or identify pathogenic micro-organisms are destroyed.













Sticky Note
This response is very limited and the key points have been omitted. A basic response should refer to starch granules absorbing liquid when heated. A developed response should include the amount the granules absorb, the temperatures this occurs at, the releasing of the starch and when gelatinisation is complete.


Sticky Note
If the candidate had suggested UHT as the method to extend the shelf life of milk they could have basically explained; uses very high temperatures for a short period of time.  Adding further for a more developed response temperatures and timings.               

Sticky Note
Evaporation is not a method used to extend the shelf life of milk.  Suitable answers could include; Pasteurisation, sterilisation or ultra heat treatment.









Sticky Note
The candidate has correctly identified self raising flour for Victoria Sandwich and plain flour for Shortcrust pastry.  Strong flour is the correct response for the Éclairs.



Sticky Note
In this response the candidate has recognised that air is a contributing factor in the browning of peeled apples.  For a developed response the candidate needs to discuss the enzymes in the apple reacting with the oxygen in the air. 


Sticky Note
Wholemeal bread is a correct response.  To achieve full marks the candidate could have suggested adding some salad to the sandwich.



Sticky Note
The candidate recognises that cornflour can be used when making a white sauce and that the starch thickens the sauce but, the answer is very limited and key points have been omitted. A basic response should refer to starch granules absorbing liquid when heated. A developed response should include the amount the granules absorb, the temperatures this occurs at, the releasing of the starch and when gelatinisation is complete.



Sticky Note
This answer is too vague to be awarded any marks. The candidate mentions the milk is heated but does not state any time or temperatures.  The question is not asking about volume or concentrations.  The candidate needed to develop the response to include times, temperatures and the destroying of micro-organisms/bacteria.

Sticky Note
Evaporation is not a method used to extend the shelf life of milk.  Suitable answers could include; Pasteurisation, sterilisation or ultra heat treatment.
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8.	 This question is about ICT, CAD, CAM, Systems and Processes. It is worth a total of 15 marks.

	 (a)	 ICT, CAD and CAM are frequently used in food technology when developing new products.

		  Complete the table below by placing a tick (√) in the correct column.	 [3]

© WJEC CBAC Ltd.

Statement ICT CAD CAM

Computers controlling machinery.

Using computers to present information.

Using computers to develop ideas.

	 (b)	 An example of a flowchart for the beginning of the making of an apple crumble is shown 
below. 

Wash, peel and core apples.

Slice apples.

Cook apples gently with butter.

Are the apples sliced 
equally?

Yes

No
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	 (i)	 Explain the meaning of the term ‘flowchart’.	 [2]

	

	

	 (ii)	 Complete the table below by stating the meaning of each of the symbols used in the 
flowchart.	 [3]     

© WJEC CBAC Ltd.

Symbol Meaning

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 (iii)	  Explain why flowcharts are used by manufacturers when making products.	 [2]

	

	

	 (iv)	 Explain why it is important for feedback to happen straight away when manufacturing 
a food product like the apple crumble.	 [2]                                                                         

	

	

	 (c)	 Explain what is meant by ‘quality control’.	 [3]

	

	

	

	

END OF PAPER











Sticky Note
The candidate has put forward a suitable response in relation to quality control, recognising that checks are required during the manufacturing of products and has identified a suitable check.  To achieve full marks the candidate needed to make reference to checks being checked regularly by manufacturers to ensure standards are met resulting in consistent outcomes.

Sticky Note
A developed response is required for this question. A basic response could refer to the fixing of problems easily.  A more developed response could make reference to ingredients not being wasted or money/manufacturing time being lost.

Sticky Note
The question is asking candidates to explain, the candidate has put forward a basic response.  To achieve full marks the candidate also needed to mention that flowcharts are used to ensure  the production of a good quality, safe product. 

Sticky Note
The first two symbols have not been correctly identified.  The correct answers would be Terminator/start/end and decision/question.

Sticky Note
This question states explain therefore a more detailed response is needed for full marks to be awarded.  The candidate could have included reference to points in the making process where decisions need to be made.











Sticky Note
The candidate has put forward a simple response in relation to quality control.  To be awarded full marks the candidate would need to discuss the checks being checked regularly by manufacturers to ensure standards are met resulting in consistent outcomes.


Sticky Note
The candidate has provided a basic response.  The question asks the candidate to explain therefore a more developed response is required.  The candidate could make reference to ingredients not being wasted or money/manufacturing time being lost.


Sticky Note
The question is asking why a  manufacturer would use a flowchart.  The candidate has not provided sufficient information to be credited. A basic response could be; it allows manufacturers to set up a production line.  To develop the response reference could be made to a production line results in a good, quality, safe product being produced.

Sticky Note
Quality control check is not the correct response.  The correct answer for the second symbol is decision/question.

Sticky Note
The candidate has not included enough information to be awarded any marks, they have not referred to making in their response.  A basic response could  state; A flowchart is a plan for making.  The response could be developed to include it can be a diagrammatical way to show a plan of work/series of events.







Sticky Note
The candidate has correctly identified the use of CAD. ICT is using  computers to present information and CAM is computers controlling machinery. 



Sticky Note
The candidate has correctly identified checks as an important element of quality control. This is a basic response.  To increase the marks awarded the candidate could have made reference to the product being made to the correct standard and the type of checks by the manufacturer to ensure  the consistency of the products produced.

Sticky Note
The candidate has correctly identified in a basic answer that the product can be changed if something is wrong with the method of making.  A more developed response should make reference to ingredients not being wasted or money/manufacturing time being lost.


Sticky Note
To achieve full marks for this question a more developed response is required.  The candidate also needed to mention that flowcharts are used to ensure  the production of a good quality, safe product. 


Sticky Note
The meaning of each symbol has not been completed correctly.  The correct response would be Terminator- start/end, Decision/question and Process/instruction.
 

Sticky Note
The candidate has supplied a basic response.  For full marks to be awarded the candidate could include it can be a diagrammatical way to show a plan of work/series of events including points where decisions need to be made.
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


5 a  No answer or incorrect responses. 0 2   


   A single product made for the specific 
needs of a customer – one off production. 
A specific number of the same food 
product made as a small scale production 
system – Batch Production. 


1 
 
 
1 


   


 b i No answer or answer is incorrect. 0    


   Correct response 
Deck oven 


1    


  ii No answer or answer is incorrect. 
Correct response 
blast chiller 


0 
1 


   


  iii  No response or incorrect response relating 
to the use of the equipment piece when 
manufacturing food products. 


0 2   


   Basic response 
Has different temperature sections for 
cooking foods. 
Don’t have to keep opening one main 
oven door. 
Can cook many different foods in one go 
 
Developed response 
Has different temperature sections for 
cooking foods therefore can cook many 
different products at one go. 
 
When making small batches of foods they 
can be easily cooked at same time due to 
lots of small ovens. 
 
When opening oven door it is only for that 
one particular product therefore other 
products will not have cooking time 
interrupted. 


1 
 
 
 
 
 
 
2 


   


 c  No answer or an answer does not relate to 
term ’scaling up’.  


0 2   


   Award simple response 
Multiplying up ingredients. 


1    


   Award developed response  
Multiplying up ingredients proportionally to 
produce larger amounts. 


2    
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


 d  No answer or the answer does not relate to 
a manufacturing specification. 
 
Basic response 
To let the manufacturer know important 
details about the product. 
 
Good response 
It gives precise details that a food 
manufacturer will need to be able to 
produce an exact replica of the final 
prototype/design. 


0 
 
 
1 
 
 
 
 
2 


2   


     10 10 70 


 





		Blank Page
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


6 a  No answer or answered incorrectly. 0 3   


   Victoria sandwich cake – S R flour 
Éclairs – strong flour/bread 
Mince pies – plain flour  


1 
1 
1 


   


 b i No answer or the answer does not relate to 
the protein source. 


0 1   


   Main protein source 
Cheese 


    


  ii No answer or the answer does not relate to 
the changes to the sandwich to increase the 
fibre. 


0 2   


   Award each correct change 1 mark 
Change white bread to wholemeal 
bread/granary bread/brown/seeded. 
Add salad to the sandwich – lettuce and 
tomatoes/onions. 
Add vegetables – like chargrilled vegetables. 


 
 
1 
1 


   


 c  No answer or the answer does not relate to 
the browning of the fruit. 


0 2   


   Basic response 
Fruit comes into contact with oxygen/air. 
 
Developed response 
Enzymes in the fruit react with the oxygen in 
the air so surface goes brown named 
enzyme polyphenoloxidase in answer. 


 
1 
 
 
2 
2 


   


   No answer or the answer does not relate to 
method or prevention. 


0 1   


  
 


 
 


Method of prevention  
Use of lemon juice/citric acid/cold water/cling 
film/air-tight container.  


1 
 


   


 d  No answer or the answer does not relate to a 
method that extends the shelf life of milk. 
Correct response  
Pasteurisation 
Sterilisation 
Ultra heat treatment 


 
 
 
 
1 
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


   No answer or incorrect answer. 
Pasteurisation – Basic response 
The milk is heated to 72˚C. 
Developed response 
The milk is heated to 72˚C for 15 seconds. 
Then cooled rapidly to below 10˚C. 
Pathogenic micro-organisms are destroyed.  
 
Sterilisation – basic response. 
Milk is heated for a long period of time at 
higher temperatures. 
Developed response 
Milk is heated for a long period of time 40 
minutes at 104˚C. Destroys nearly all micro-
organisms and enzymes. 
 
UHT – Basic response  
Uses very high temperatures for short period 
of time. 
Developed response 
Milk is heated to 130˚C/133˚C for 1-5 
seconds. Destroys all bacteria. 


0 
 
1 
 
2 
 
 
 
1 
 
2 
 
 
 
 
 
 
1 
 
 
2 


2   


 e  No answer or incorrect response 0 3   


   Correct response 
When heated starch granules absorb liquid 
About 60˚C Starch granules absorb liquid 
about 5x their volume and swell, then burst 
open about 80˚C. 
Starch granules absorb liquid about 5x their 
volume and swell, then burst open and 
release starch which thickens the liquid. 
Gelatinisation complete when liquid reaches 
boiling point 100˚C. 


 
1 
 
 
2 
 
 
 
3 


   


     15 15 85 


 





		Blank Page
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


8 a  No answer or the answer does not relate to 
the abbreviated term for each statement.  


0 3   


   Award each correct statement and term 
matched: 
Computers controlling machinery – CAM.  
Using computers to present information – 
ICT. 
Using computers to develop ideas - CAD. 


 
 
1 
 
1 
1 


   


 b i No response or the answer does not relate 
to the meaning of the term flow chart. 


0 2   


   Basic response 
A plan that shows steps for making. 
Step by step guide. 
 
Developed response 
A flow chart is a diagrammatical way to show 
a plan of work/series of events. 
Symbols showing the steps in the making 
process with points where decisions need to 
be made. 


1 
 
 
 
2 


   


  ii No answer or an answer does not relate to 
the meanings of the symbols. 


0 3   


   Award each correct symbol identified. 
 
Terminator – start or end  of system. 
Decision – a question with a  yes or no 
answer. 
Process – the instruction/action/activity to be 
carried out. 


 
 
1 
1 
 
1 


   


  iii 
 
 
 
 
 
 
 
 
 
 
 
 


No answer or the answers does not relate to 
why flow charts are used by manufacturers 
when making products. 
 
Basic response  
Allows manufacturers to set up a production 
line. 
To make sure products are made correctly. 
 
Developed response 
Allows manufacturers to set up a production 
line which result in a good quality safe 
product. 
 


0 
 
 
 
 
1 
 
 
2 


2   
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


  iv No answer or the answer does relate the 
importance of feedback happening straight 
away. 
Basic response 
So problems can be fixed easily. 


0 
 
 
 
1 


2   


   Developed response  
So problems that occur can be fixed quickly 
so that ingredients are not wasted. 
So problems that occur can be fixed quickly 
and the manufacturer does not wasted time 
and money. 


2 
 
 
2 


   


 c  No answer or the answer does not relate to 
the meaning of quality control. 


0  3  


   Basic response 
Standards/checks set by manufacturer 
Steps taken to check product at various 
stages. 
 
Satisfactory response 
When checks/standards are put into place 
during the making of the product. 
 
Developed response 
When standards are put into place by 
manufacturers during the making of a 
product and they are checked regularly to 
ensure the standards are being met.  


1 
 
 
 
 
2 
 
 
 
3 


   


     15 15 120 
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